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B.Ed. 104 : Assessment & Evaluation For Learning
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Practical : Developing an achievement test with its Blue Print,

Answer Key & Marks Distribution
(Brftrdioss, ot @ or frmitvg dureus amEdf fAsa)

EVALUATION SCHEME

Rating Scale : 1) Unsatisfactory 2) Average 3) Satisfactory 4) Good 5) Excellent

No. Criteria 1 2 3 4 5
1 Design a blue print as per crieria ]
2 Instructions given to attend the test Mt |
3 Type of question & marks alloted as per blue print Kt
4 Difficulty level of the questions —1
5 Language used for framing the questions —
6 Length of test =
7 Content validity aa
8 Answer Key with marks distribution A
9 Educational Implications g
10 | Overall Impression —
TOTAL MARKS - 50 L{ L‘
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FIRST UNIT TEST - 2022

Std-Vv Subject - Maths AAmcten AN

FIRST UNIT TEST- 2022

std-V Subject - Maths Marks- 20

Q.1 Write the Roman numeral of given Numbers [4 Marks]
1) 4 2)6
3)10 4)7

Q.2 Solve the following Examples
A] Addition [ 4 Marks]

1) 1+43+057 +4.21 + 689
2) 26 +42 +073 +739 + 478
3) 40722 + 13819 _.
4) 56427 + 10648

B] Subtraction [2 Marks]
1) 405825 - 9876. 2). 252011 -218950

Q.3 Solve the Following Examples

A] Multiplication [2 Marks]
1) 754 X 368. 2 7 7 |
B] Divide [2 Marks]
1) 4254+ 25. 2) 9783 + 32

Q.4 Give the following answer |

A] Define [3 Marks]

1) What is radius ? 5
2) What is chord ? . ST N
3) What is diameter ? !

B] Draw the circles with the radii given below ‘ [1 Mark] |

1) 2 ecm. 2)4 cm. | » ' )

C] Complete the following table by filling In the blanks. [2 Mark]

Radius 4cm 9cm

16cm 22cm

Diameter
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